Notation — Laws of Inference

We're using the "= “ symbol A LOT.
Too much

Some new notation to make our lives easier.

If we know both 4 and B A B

* We can conclude any (or all) of C,D C,D

“~" means “therefore” — | knew A, B therefore | can conclude C, D.

%
P—=ap Modus Ponens, i.e. [(p = q) Ap] = q),

q in our new notation.

Try it yourselves

Suppose you know p = q,—s = —g,and p.
Give an argument to conclude s.
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Help me adjust my explanation!
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‘ Inference Rules

AV i -4

A=>B

A—->B

Direct Proof
rule
Modus P-Q.p
Ponens - Q

You can still use all the
propositional logic
equivalences too!
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‘ Try it!

Given:pvgq, (rAs) - —q,r.

Show: s = p

Eliminate A

Eliminate v

Intro A

Intro v

-_— Modus
B Ponens .

ANB

— - A=B
rule A—>B

AVB,-A

~AVB,BVA

P-Q;P

A;B
ANB You can still use all the
propositional logic
A equivalences too!




